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NEB - GRADE XII

Population Education/Studies

ljBfyL{x?n] ;s];Dd cfkm\g} zAbdf pQ/ lbg'kg]{5 . bfof“ lsgf/fdf lbOPsf] cª\sn] k"0ff{ª\s
hgfp“b5 .
Candidates are required to give their answers in their own words as far as
practicable. The figures in the margin indicate full marks.

Time: 3 hrs.    Full Marks: 80
Pass Marks: 28 (For partial students only)

;d"x ‘s’ (Group 'A')

-lj:t[t pQ/fTds k|Zgx?÷ Long answer questions)

s'g} b'O{ k|Zgsf] pQ/ lbg'xf];\ . (Attempt any two questions.) @x!^=#@

!= lgDg lnlvt tYofª\sx?af6 dWos, dlWosf, ax'ns / :t/Lo ljrng
lgsfNg'xf];\ . $±$±*
Compute the Mean, Median, Mode and Standard deviation from of
the following data.

k|fKtf° (Marks Obtained) 20-30 30-40 40-50 50-60 60-70 70-80 80-90

ljBfyL{ ;+Vof (No.of Students) 5 9 16 18 17 8 7

@= dlxnf k|hgg\ k|0ffnL;“u ;DalGwt leqL / aflx/L cª\ux?sf] agfj6 / sfo{x? ;kmf /
k|i6 lrq;lxt j0f{g ug'{xf];\ . $x$
Describe the structure and functions of internal and external genital organs
of female reproductive system with the help of neat and labelled diagram.

#= tLa| hg;+Vof j[l4af6 k|fs[lts / dfgjLo ;|f]tdf k/]sf kl/0ffdx?sf] JofVof
ug'{xf];\ . $±!@
Describe the consequences of rapid population growth on natural and
human resources.

 ;d"x ‘v’ (Group 'B')

-;+lIfKt pQ/fTds k|Zgx?÷ Short answer questions)

s'g} 5 k|Zgsf] pQ/ lbg'xf];\ . (Attempt any six questions.) ^x*=$*
$= g]kfnsf] kl5Nnf] k~rjifL{o of]hgfsf] hg;+Vof gLltsf] af/]df JofVof ug'{xf];\ .   *

Explain the population policy of the latest five year periodic plan.
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%= n}ª\lus ;dfgtf eg]sf] s] xf] < o;nfO{ sfod ug]{ pkfox? n]Vg'xf];\ . #±%
What is gender equality ? Write how to achieve gender equality.

^= u'0f:t/Lo hLjg eGgfn] s] a'lemG5 < kl/jf/sf] cfsf/n] hLjgsf] u'0f:t/df s;/L k|efj
kfb{5 < *
What is meant by quality of life ? How does family size affect it ?

&= kl/jf/ lgof]hg eg]sf] s] xf] < dlxnf aGWofs/0fsf] 5f]6s/Ldf j0f{g ug'{xf];\ . @±^
What is family planning ? Describe the female sterilization in brief.

*= of}g k|;fl/t /f]ux?sf] ;"rL agfpg'xf];\ / P8\;sf] /f]syfdsf] pkfox? n]Vg'xf];\ . #±%
Enlist the sexually transmitted diseases (STDs) and explain the preventive
measures of AIDS.

(= tnsf tYofª\sx?af6 ;x—;DaGw lgsfNg'xf];\ . *
Find the correlation coefficient from the following data.

pd]/ (Age) yrs. 17 18 19 20 21 22 23 24 25 26

tf}n (Weight) kg. 40 45 48 50 50 49 48 52 55 56

!)= hg;+Vof cWoog÷lzIffdf cg';Gwfg k|ltj]bg tof/ kfbf{ ;dfj]z ug'{kg]{ d'Vo d'Vo
a'“bfx?sf] j0f{g ug'{xf];\ . *
Describe the important steps used in research study report in population
studies/education.

!!= 5f]6f] l6Kk0fL n]Vg'xf];\ . (Write short notes on:) $±$
s_ kfl/jfl/s hLjgrqmsf r/0fx? (stages of family life cycle)

v_ hGdfGt/sf kmfObfx?
Advantages of birth spacing.
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